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Year 3: Autumn Term

Star Words/ Vocabulary List

Vioc.ahula.ry Example
Place Value The value of each digit in a
numhber (see helow).
Ones 54 has 4
Tens Ones ON2A.
H N
g B
Tens 54 has 5 tens.
Tens Ones
HE
HE
Hundreds # Hundreds Tens Ores 254 has 2
Em ‘ ‘H B B hundreds.
H N
Partitioning A way of hreaking a numher
into paorts i.e; hundreds, tens
and ones.
452 = 400 + 50 + 2
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Regroup If T hawve ten ones [ can regroup
them in to one ten. i.e.
[+1+1+1+1+1+[+1+]+] = 10 .or

BEEgl s the same as

H EENpg
s equal to (=) The numher of _ is equal to
the numhber of

12 add 3 is equal to 5.

12 plus 3 is equal to |5.

The same as The numhber of _ is the same
as the numher ,o; .

Increase/ Increasing When o numhber or sequence is

getting higqger.

“The pattern is increosing

»

by "

Decrease/ Decreasing When .a numhber or pattern is
getting smaller.

“The paottern is decreasing

»

by 7

Count on The method wherehy the
children count on [from the
highest numhber to find o total
of two numhbers.

Altogether How many are there altogether?

There are __ apples altogether.

Number hond A way of representing o numhber
using o part-part whole model
(see helow).

Parts that maoake a whole; |3 add
3 is equal to |6.
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Resources 6[‘ o5 par ents
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Part Whole ,di,a,g raum
(Res.ource)

|5
Lt

(parts)

Wwhole)

Part(s)

15
7

“One of ouwr parts is |5
“One of our ports is 5"

20 is the whole. |15 and 5 are
the parts.

Wh.ole

15
2%

“Our whole is 20"

20 is the whole. |15 and 5 are
the parts.

Rounding

A method uwsed to approximate .
number to the nearest
appropriate multiple of ten;

If the ones digit in o number is
0, I, 2, 3, &, you round down to
the nearest multiple of 10.

For example; 64 to the nearest 10

is 60.

If the ones digit in a numhber is
5 6,7, 8 9, youw round up to the
nearest multiple of 10.
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For example; 78 to the nearest 10

is 80.

Make ten sirotequy
(Meth.od) q+7= 1046 %16

®

When an addition .or
subtroction equation hridges to
the next or prexiouws ten.

B,rj,,d,,gz ten

24+8=__

Children will wse the make ten
strateqguy to solve it.

4 has been partitioned into
two parts, 2 and 2.

+2 +2

. a'a) }

| T
20 % 30 %2 40

The result of adding two or
more numhbers. This is often
used mistakenly to mean any
caolculations, bhut sum should
only be used for additions.

Sum
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(Meth.od)

11

11+ |=16 16 —

16

This is way of representing .a
probhlem wsing pictures. It is
often a very useful woiy of
making o complex word probhlem
more accessible to pupils.

By “seeing” the probhlem in a
visual form, it coan he easier
for children to see how to
approoch the prohlem.
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